t Code: 94164 / Economics:Paper II-Agriculture Economics.

M.&. (PART - 1I)

- ECONOMICS:-
Agriculture Economics (Time : 3 Hours ) (Total Marks : 100)
(Paper - 1) (June-2019) fheck whether you have got the right question paper.
.D:: T n No.1 is compulsory.

2)  Answer ANY THREE questions from the remaining SIX.
3)  All questions carry equal marks.

1. Write notes on any THREE of the following :
a) Pesticide management.
b) Types of Farming.
c) Agricultural taxation in India.
d) Role of agricultural extension.
e) Gender-based Income Disparities.
f) Impact of WTO on agriculture.

2. Explain the following theories of agriculture development :
a) Lewis
b) Mellor

3. Ciritically examine the Public Investment on Major Medium and Minor Irrigation in
India.

4. What is New Technology? Discuss in details Impact on the Development Through.
a) Productivity Pre-hector.
b) Employment of Labour.
c) Real Wages.

5. a) Describe the impact of Financial Sector reforms on rural credit.
b) Explain the advantages and disadvantages of Micro Finance in India.

<

Attempt ANY TWO of the following :
a) Explain the Urban Rural Income Disparities.
b) Role of the research in Indian Agriculture.
c) Explain the methods of surplus extraction.

2

Attempt ANY TWO of the following :
a) Explain the Abolition of Intermediaries.
b) Foreign Capital and Indian Agriculture.
¢) Agrarian Reforms and Peasant Movement.
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M.A. ( PART - ll) \t Code: 94216 / Economics:Paper II-:Industrial Economics

-: ECONOMICS:-
Industrial Economics

_(Paper - II) (June-2019) D ( 3 Hours)

N.B.: (I) All questions carry equal marks.
(2) Attempt any four questions.

1. Explain the following:-

(a) Characteristics of Indian labour market
(b) Critical evaluation of Theory of Human Capital

2. Discuss the following:-

(a) Short run demand curve for labour
(b) Impact of globalization on labour

3. Explain briefly the following:-

(a) Demand and supply theory of wages
(b) Subsistence theory of wages

4. Explain the following:-

(a) Employment security and efficiency
(b) Various labour legislations in India

5. Explain briefly the social security measures in India.
6. Discuss the following:-

(a) Class conflict approach to industrial relations
(b) Role of trade unions in Labour-Management relations

7. Write notes on any two of the following:-

(a) Employment generation policies in India
(b) Economics of unions

(¢) Contract labour

(d) Role and functions of ILO
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ode: 94110 / Economics Paper III- Development Economics

M.A. (PART -1I)
- ECONOMICS:-
Development Economics

Q.P. Code : 39924

(Paper - Il1) (June-2019) [3 Hours] [ Marks: 100]

Prease check whether you have got the right question paper.

N.B: 1. Attempt any four questions.
2. All questions carry equal marks.

1. Explain any two of the following : 25
(a) Balanced v/s unbalanced growth.
(b) W.W. Rostow Model.
(c) Big-Push theory.

2. Write notes on any two of the following : 25
(a) Absolute and conditional convergence
(b) AK Model

(c) Some empirical regularities about growth.

3. Explain in detail any one Dependencia theory of development. 25
OR

Explain the fundamentals of the development school of Economics and the various strategies of
growth it promulgates.

4. Write an essay on under nutrition and labour market. 25
OR
Explain efficiency wage hypothesis.

5. Explain any two of the following : 25
(a) Financial repression
(b) Contractionary devaluation
(c) Exchange rate targeting.

6. Write an essay on Revised minimum Standard Model. 25

7. Write short notes on any two of the following : 25
(a) Role of human capital
(b) Low level equilibrium trap
(¢) Economics of child labour
(d) Structural adjustment programmes.

Turn Over
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et Code: 94133 / Economics:Paper IV - Public Economics
M.A. (PART -11)

-: ECONOMICS:-
Public Economics

(Paper - 1V) (June-2019) [Time: 3 Hours] [ Marks:100]

Please check whether you have got the right question paper.
N.B: 1. Attempt any four questions.
2. Figures to the right indicate full marks.

Q.1 Explain the following.
a) Functions of the government.
b) Arrow’s Impossibility theorem.

Q.2 Discuss the following.
a) Optimal conditions for provision of local public goods.
b) Clarke Groves tax.

Q.3 Examine the following.
a) Harberger’s model of incidence of corporation tax.
b) Relationship between optimal taxation and income distribution with
reference to linear income tax.

Q.4 Analyse the following.
a) Inclusion of wealth effect in traditional IS — LM analysis with reference to
Silber model.
b) Solow — Blinder theorem and bond financed deficits.

Q.5 Elaborate on the following.
a) Macro-economic effects of fiscal deficit.
b) Twin deficits approach to growth and inertial inflation.

Q.6 Explain the following.
a) Flypaper effect.
b) Decentralization theorem.

Q.7 Write notes on any two of the following.
a) Social welfare functions.
b) Wagner’s law of public expenditure.
¢) Value added tax.
d) Krugman’s model of financial crisis.
e) Federal structure in India.
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